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DHM2EE
5 B - R AR 5 415 AEME (YA70 2 — I BH) B %
5cm 50cm 100cm
OghithhilER (Z) — 0.07 — PA-1000
QT Ao+ —IL I} — 0.06 — PA-1000
) h=piid =Y — 0.07 — PA-1000
12/2(K) EY @ RYEH — 0.06 — PA-1000
OH%ET — 0.06 — PA-1000
®J5>aTF — 0.06 — PA-1000
i5 0.05 0.07 — PA-1000
it ER (Z) — 0.06 — PA-1000
QT Ao+ — LI — 0.06 — PA-1000
BE &t — 0.06 — PA-1000
6/4(K)EY @F Y& — 0.06 — PA-1000
O%ET — 0.05 — PA-1000
®7Z>aF — 0.05 — PA-1000
i 0.06 0.05 — PA-1000
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ERE1ERE
5 B - R AR 5 415 AEME (YA70 2 — I BH) B %
5cm 50cm 100cm
OghithhilER (Z) — 0.07 — PA-1000
QT Ao+ —IL I} — 0.07 — PA-1000
) h=piid =Y — 0.07 — PA-1000
12/40K) BN @ RYEH — 0.05 — PA-1000
OH%ET — 0.06 — PA-1000
®J5>aTF — 0.06 — PA-1000
iz 0.06 0.07 — PA-1000
it ER (Z) — 0.06 — PA-1000
QFLAIA— IV — 0.05 — PA-1000
BE &t — 0.07 — PA-1000
6/4(X)BEN @FRYEM — 0.06 — PA-1000
O%ET — 0.05 — PA-1000
®7Z>aF — 0.06 — PA-1000
i 0.05 0.06 — PA-1000
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5 B - R AR 5 415 AEME (YA70 2 — I BH) B %
5cm 50cm 100cm
OghithhilER (Z) — 0.08 — PA-1000
QT Ao+ —IL I} — 0.06 — PA-1000
) h=piid =Y — 0.08 — PA-1000
12/4CR) BN @ RYEH — 0.07 — PA-1000
OH%ET — 0.05 — PA-1000
®J5>aTF — 0.05 — PA-1000
i5 0.06 0.06 — PA-1000
it ER (Z) — 0.07 — PA-1000
QT Ao+ — LI — 0.06 — PA-1000
BE &t — 0.08 — PA-1000
6/5(X) BN @FRYEM — 0.06 — PA-1000
O%ET — 0.06 — PA-1000
®7Z>aF — 0.05 — PA-1000
i 0.06 0.06 — PA-1000
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5 B - R AR 5 415 AEME (YA70 2 — I BH) B %
5cm 50cm 100cm
OghithhilER (Z) — 0.08 — PA-1000
QT Ao+ —IL I} — 0.07 — PA-1000
) h=piid =Y — 0.09 — PA-1000
12/4(A)EN @ RYEH — 0.07 — PA-1000
OH%ET — 0.06 — PA-1000
®J5>aTF — 0.06 — PA-1000
iz 0.08 0.08 — PA-1000
it ER (Z) — 0.09 — PA-1000
QFLAIA— IV — 0.07 — PA-1000
BE &t — 0.09 — PA-1000
6/5(R)EN @FRYEM — 0.06 — PA-1000
O%ET — 0.06 — PA-1000
®7Z>aF — 0.06 — PA-1000
i 0.06 0.06 — PA-1000
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ERR28EE
5 B - R AR 5 415 AEME (YA70 2 — I BH) B %
5cm 50cm 100cm
OghithhilER (Z) — 0.08 — PA-1000
QT Ao+ —IL I} — 0.07 — PA-1000
) h=piid =Y — 0.11 — PA-1000
12/6 Q) BEN @FRYEH — 0.07 — PA-1000
OH%ET — 0.07 — PA-1000
®J5>aTF — 0.06 — PA-1000
iz 0.08 0.07 — PA-1000
it ER (Z) — 0.09 — PA-1000
QT Ao+ — LI — 0.06 — PA-1000
BE &t — 0.11 — PA-1000
6/2(K)BEN @FRYEM — 0.08 — PA-1000
O%ET — 0.06 — PA-1000
®7Z>aF — 0.06 — PA-1000
i 0.07 0.08 — PA-1000
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OBt HILER (GZ) — 0.09 — PA-1000
QFLAIA— IV — 0.07 — PA-1000
BE &t — 0.10 — PA-1000
12/2(K) &Y @F Y& — 0.08 — PA-1000
OH%ET — 0.07 — PA-1000
®735>3aF — 0.07 — PA-1000
i 0.07 0.07 — PA-1000
Ot L ER () — 0.10 — PA-1000
QT Ao+ —IL I} — 0.07 — PA-1000
) h=piid=Y:s — 0.11 — PA-1000
6/4(K)BEN @FRY&EH — 0.07 — PA-1000
OH%ET — 0.08 — PA-1000
®J5>aTF — 0.08 — PA-1000
5 0.08 0.08 — PA-1000
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Ot il ER () — 0.11 — PA-1000
Q7L A9+ —ILE — 0.08 — PA-1000
- h=piid=Y:is — 0.11 — PA-1000
3/5(R)EN @FRYEH — 0.08 — PA-1000
Of%ET — 0.08 — PA-1000
®75>aF — 0.08 — PA-1000
i5 0.07 0.07 — PA-1000
OBt FLER (GZ) — 0.10 — PA-1000
QFL A9+ — IV — 0.07 — PA-1000
QE & E R — 0.11 — PA-1000
12/3(K)ENR @FRYEH — 0.09 — PA-1000
O%ET — 0.10 — PA-1000
®75>aF — 0.08 — PA-1000
i5 0.08 0.10 — PA-1000
gt LER () — 0.11 — PA-1000
Q7L A9+ —ILE — 0.07 — PA-1000
BE &t — 0.13 — PA-1000
9/3(K)HEN @DFRYER — 0.08 — PA-1000
OkET — 0.08 — PA-1000
®75>aF — 0.07 — PA-1000
hi5 0.07 0.09 — PA-1000
Ot L ER (GZ) — 0.12 — PA-1000
Q7L Ao+ — IV — 0.09 — PA-1000
- h=piid=Y:s — 0.14 — PA-1000
6./ 3(K)FEN @I Y& — 0.09 — PA-1000
Of%#ET — 0.08 — PA-1000
®75>aF — 0.08 — PA-1000
iz 0.08 0.09 — PA-1000
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Ot E8 (G2) — 0.11 — PA-1000
QFLA9+—ILE — 0.07 — PA-1000
Q&M E — 0.13 — PA-1000
3/3(R) BEh @DFRYER — 0.08 — PA-1000
O%ET — 0.08 — PA-1000
®75>aTF — 0.09 — PA-1000
bi5 0.10 0.10 — PA-1000
Ot ER () — 0.12 — PA-1000
QFLA9+—ILE — 0.08 — PA-1000
X QAL — 0.11 — PA-1000
’ /:%%5]2 ?%m @DFRYER — 0.08 — PA-1000
O%ET — 0.08 — PA-1000
®735>aTF — 0.09 — PA-1000
i5 0.10 0.11 — PA-1000
Ot ER () — 0.12 — PA-1000
QFLA9+—ILE — 0.07 — PA-1000
Q& E R — 0.12 — PA-1000
11.1(%) Bh @DFRYER — 0.08 — PA-1000
O%ET — 0.08 — PA-1000
®75>aF — 0.09 — PA-1000
i5 0.10 0.11 — PA-1000
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Ot E8 (G2) — 0.13 — PA-1000
QFLA9+—ILE — 0.09 — PA-1000
QA LEE — 0.15 — PA-1000
@DFRYER — 0.09 — PA-1000
O%ET — 0.12 — PA-1000
®75>aTF — 0.10 — PA-1000
9./6(&) £Y fbi5 0.08 0.12 — PA-1000
AN F — 011 — PA-1000 EGRF B E (REFRETFIF D ATGEIEH B S5 AF)
BNF — 013 — PA-1000 ”
ON>F — 015 — PA-1000 ”
ON~F — 011 — PA-1000 ”
ENF — 010 — PA-1000 ”
A BERET — 015 — PA-1000 ”
O Es () — 0.14 — PA-1000
Q7L A9+—ILE — 0.10 — PA-1000
QA E — 0.13 — PA-1000
771(R) 2Y @DF Y& — 0.09 — PA-1000
OKET — 0.10 — PA-1000
®JZ>aF — 0.09 — PA-1000
i5 0.10 0.11 — PA-1000
O Es () — 0.13 — PA-1000
QTLAA— IV — 0.08 — PA-1000
QA E — 0.16 — PA-1000
5/150K) BBh @I RYER — 0.10 — PA-1000
OKET — 0.09 — PA-1000
®JZ>aTF — 0.10 — PA-1000
b5 0.10 0.10 — PA-1000
10/16 (BR19)



MDD EE—REAEICE T SRR ERLR (F23~24F )

11/16 (BR19)



o ESE BERRICHE OIS EERTERER
Fﬁ’f’ﬂﬂ:;ﬂ(DJﬂ—%
ER24ERE
—— . BIEME (4B —AN )L EE) il =
/ﬂIJIEEl 951'; /ﬂlliEiﬂﬁin 5em 50cm 100em lﬁ“iE%g ﬁ%%
Ot ER () — 0.15 — PA-1000
Qb5 0.13 0.14 — PA-1000
QEE LR — 0.17 — PA-1000
3/1(A) <bY @DFRYER — 0.12 — PA-1000
OH%ET — 0. 11 — PA-1000
®75>aF — 0. 11 — PA-1000
DILA9+—ILE — 0. 10 — PA-1000
Ot ER () — 0. 15 — PA-1000
Qb5 0.14 0.13 — PA-1000
QAL — 0. 18 — PA-1000
2/1(&)EN @FRYER — 0.13 — PA-1000
O%ET — 0. 15 — PA-1000
®75>aF — 0.13 — PA-1000
DILA9+—ILE — 0.12 — PA-1000
Ot ER () — 0.16 — PA-1000
Qmbi5 0. 15 0.14 — PA-1000
X QESWEER — 0.18 — PA-1000
1 /fgféh @DFRYER — 0.12 — PA-1000
O%ET — 0.13 — PA-1000
®75>aF — 0.13 — PA-1000
DILA9+—ILE — 0.12 — PA-1000
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5cm 50c¢m 100cm
Ot hilER () — 0. 15 — PA-1000
Qw5 0.15 0.15 — PA-1000
QEAHER — 0.17 — PA-1000
1273(R)2Y @ RYEHRR — 0.12 — PA-1000
OHBET — 0.12 — PA-1000
®7Z>aTF — 0.13 — PA-1000
DIL A9+ — IV — 0.10 — PA-1000
Ot hDER (GZ) — 0.16 — PA-1000
Qb5 0.14 0. 15 — PA-1000
Q& tEE — 0.17 — PA-1000
1175(A) Bh @FRYEH — 0.12 — PA-1000
OKET — 0. 11 — PA-1000
®75>aF — 0.13 — PA-1000
DI A9+ —ILE — 0. 10 — PA-1000
gt FLER () — 0.15 — PA-1000
Q5 0.14 0.14 — PA-1000
O 4=p: 28 — 0.19 — PA-1000
1071(8) Bh @FRYEH — 0.12 — PA-1000
O#HET — 0.14 — PA-1000
®75>aTF — 0.12 — PA-1000
DFLA9+—ILE — 0. 11 — PA-1000
Ot iER (2) — 0.18 — PA-1000
Qb5 0.15 0.15 — PA-1000
O 4=p: 28 — 0. 18 — PA-1000
9.73(A) Bh @FRYEH — 0. 11 — PA-1000
O#%ET — 0.12 — PA-1000
®7Z>aTF — 0. 14 — PA-1000
DIL A9+ — IV — 0. 11 — PA-1000
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Ot eh i Es () — 0.16 — PA-1000
Qb5 0.16 0.15 — PA-1000
QEEHER — 0. 18 — PA-1000
8.1(k) EEN @I RYER — 0.12 — PA-1000
OHET — 0. 13 — PA-1000
®7S5>aTF — 0.13 — PA-1000
DT A9+—ILE — 0.12 — PA-1000
D chilEp (2) — 0.16 — PA-1000
Q5 0.15 0.16 — PA-1000
QEEWE R — 0.18 — PA-1000
772(8) Bh @DFRYERK — 0.12 — PA-1000
OHET — 0.13 — PA-1000
CPEPER — 0.14 — PA-1000
DILA9+—ILE — 0.12 — PA-1000
Ot hiER () — 0.17 — PA-1000
Q15 0. 15 0. 16 — PA-1000
QE AW E — 0. 20 — PA-1000
6./7(K) Eh DI RYER — 0. 11 — PA-1000
OHET — 0.13 — PA-1000
®75>aTF — 0. 15 — PA-1000
DILA9+—ILE — 0.12 — PA-1000
Ot LER (Z) — 0.18 — PA-1000
Q15 0.17 0.18 — PA-1000
QEEWE R — 0. 23 — PA-1000
5/7(A) Bh @DFRYEBH — 0. 15 — PA-1000
OHET — 0.19 — PA-1000
CFEPERS — 0. 14 — PA-1000
DT A9 +— )L — 0.13 — PA-1000
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5cm 50c¢m 100cm
Ot hilER () — 0. 20 — PA-1000
Qw5 0.16 0.18 — PA-1000
QEAHER — 0. 22 — PA-1000
410(K) BEh @FRYEH — 0.14 — PA-1000
OHBET — 0. 15 — PA-1000
®7Z>aTF — 0.16 — PA-1000
DIL A9+ — IV — 0.14 — PA-1000
Ot hDER (GZ) — 0. 18 — PA-1000
Qb5 0. 15 0.16 — PA-1000
Q& tEE — 0. 18 — PA-1000
3/10k) 2Y @FRYEH — 0.14 — PA-1000
OKET — 0.14 — PA-1000
®75>aF — 0.14 — PA-1000
DI A9+ —ILE — 0.13 — PA-1000
gt FLER () — 0. 20 0.19 PA-1000
Q5 0. 15 0.19 — PA-1000
R & ER — 0. 21 — PA-1000
2/2(K) Bh @FRYEH — 0.17 — PA-1000
O#HET — 0. 23 — PA-1000
®75>aTF — 0.19 — PA-1000
DFLA9+—ILE — 0.16 — PA-1000
Ot iER (2) — 0. 20 0.19 PA-1000
Qb5 0.17 0.17 — PA-1000
S O 4=p: 28 — 0. 21 — PA-1000
1L 1000) BEh @F Y& fh — 0.16 — PA-1000
O#%ET — 0.18 — PA-1000
®7Z>aTF — 0. 18 — PA-1000
DIL A9+ — IV — 0.14 — PA-1000
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5cm 50cm 100cm
Etth ol ER () — 0. 20 0.19 PA-1000
- fibiz 0.15 — — PA-1000
12/78(K) =Y
mAIaT ) —ER — 0. 24 — PA-1000
TtEEAEHE R — 0. 23 — PA-1000
11.25(8) BN = E SRR — 0. 24 — PA-1000
L&A EHEER — 0. 25 — PA-1000
Ty — -
1 160K) B it rhiVER (2) 0. 21 0.18 PA-1000
b1 0.14 — — PA-1000
&R (GZ) — 0.17 0.18 PA-1000
b1 0.16 — — PA-1000
10724(R) =Y Ekpt — 0. 23 — PA-1000
HE A A — 0. 22 — PA-1000
KERAHZHEKE — 0.17 — PA-1000
_— okt — 0. 22 — PA-1000
g/i(ﬁszﬁﬁ%n HEA _— 0. 24 — PA-1000
KERAHZHEKE — 0.19 — PA-1000
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